RIGOUR

MNU 2-10c

Outcome 1 - Simple Time Intervals
Calculate how long is it from...

Homework 5

Outcome 2 - Calculating Distance
Calculate the following distances...

_ . _ _ S=5mp.h. S =8 km/hr
L 840amtoll40am 2 220pmto920pm | < 2I2MPR g S8/
S =10 m/sec S =9 km/hr
e 150pmto1050pm & 3-30 am to 8-30 pm 1. Z4seconds D=? % T-6hours D=2
) ] S=7mph. S=11mph.
& 925pmtoll25pm £ 1245 to 2145 S To2home D> B To9hoims D=
S =8 m/sec S=6mp.h.
& 0855101055 _a 1615 to 2215 o 4 T -7 seconds D = ? T-3hours D=2
S=11mp.h. S =12 km/hr
3 0240 to 0940 .m 2035 10 0035 3 T=10hours D=? T=12hours D=?
Outcome 3 - Calculating Speed Outcome 4 - Calculating Time
Calculate the following speeds... Calculate the following times...
J. D = 24 miles D = 64 kilometres D = 14 miles D = 32 kilometres
T=6hours S=? ¥  T=8hours S=? S=2mph. T=?2 @ S=8km/hr T=?
D = 90 metres a D = 36 kilometres D = 60 metres g D = 42 kilometres
*  T=10seconds S=? T=9hours S=7? = S:=6m/sec T=? S=7km/hr T=?
5 D = 49 miles ﬁ T =5 hours 5 D = 30 miles S=11mp.h.
T=7hours S=7? D = 40 miles S=? S=5mph. T=? D=55miles T=?
; D = 22 metres _8 T = 9 hours ; D = 63 metres _a S=4mp.h.
T=11seconds S=? D=81miles S=? S=9m/sec T=? D=16 miles T=?
8  D=56miles AL T=11hours S D-=25miles 20 S=9mph

T=8hours S=?

D =132 miles S=?

S=25mph. T=?

D = 108 miles T=?
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